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O Designing for the average,

When measuring the body strength using the hand dynamometr the lowest recorded values we're_mr;ﬂ-g |

U None dominant hand 5cm griping size with full griping
) Dominant hand & cm griping size with full griping .
) Dominant hand 3.5 cm griping size with full griping

Ly 9] -Baminant hand S5cmgrniping size with full griping.

Dominant hand Scm griping size with half griping.
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Select one:

) 95th percentile & 5th percentile
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U 50th percentile

) 5th percentile ”‘

L 95th percentile

Jump to,.







Student name:
Student Number:

sresent the recorded data of a student assigned to a strength evaiuation

Experiment mdm\ Time |
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3. Find the muscle strength that the student can preserve
for 8 hours industrial shift duration. 3 ‘17 \lmlﬂ
> " mﬂﬂﬂ!hwmmmm 4 125 \2 30min

: In this experiment is mare stressful compared to = T
the dynamic muyscie strength. \ \ 3.50min
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Qustion2 (6 marks}):

Discuss the following:
1. “More Musde work is required 1o E7ip an objert when the wrist is bent”

1. Changin

g the grip size, results in different gnp strength for the sams subjert (person).

Qustion3 (6 marks}):

odsed on the an TiEt ata in the tahbis
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